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ANSWER KEY

1. (i) 0.14, (ii) 0.56, (iii) 0.3, (iv) 0.86, (v) 0.7 2. (i) 0.8, (ii) 0.2, (iii) 0.4, (iv) 0.4

3. (i) 0.36, (ii) 0.12, (iii) 0.86, (iv) 0.48, (v) 0.52

4. (i) 0.1406, (ii) 0.5426, (iii) 0.3166, (iv) 0.6833, (v) 0.3166

5. 49/50 6. 1/5 7. (i) 0.2, (ii) 0.8

8. (i) 9/17, (ii) 7/17, (iii) 5/17, (iv) 15/17

9. (i) 29/2400, (ii) 29/120, (iii) 1/240, (iv) 1/96, (v) 1031/1200, (vi) 589/600

10. (i) 0.3, (i) 0.2, (iii) 0.1, (iv) 0.4  11. (i) 1/4, (ii) 3/4, (iii) 0.73 (iv) 0 12. (i) 1/5, (ii) 33/100

13. (i) 7/15, (ii) 8/15, (iii) 3/5 14. (i) 13/25, (ii) 193/400 15. 625





